[image: image1.jpg][} WBS  |TaskName Duration Start Finish Predecessors ||

0 = tTaskt Taayr FrifoneA10800 i 10061 1700
oo timse Taay? F1008I11 0800 F1008/11 1700
o2 12Tasc Taay? F1008IT1 0800 1008/t 1700

© = 2Task2 Taaye Fritonen10600 i 100641 1700
o 2iwee Taay? F1008I11 0800 1008/t 1700
ww  22Tesc Taay? Ff008IT1 0800 1008/t 1700

0 = 3Tasks Taayr Fritonen 0800 i 100641 1700
Gt - 34Tasks Taayr Fritonen 0800 Fri1006A1 1700
wotot S1iTaske Taay? F1008IT1 0800 100811 1700
w0102 312Task? Taay? F1008IT1 0800 1008/t 1700
w0 32Tese Taay? Fr 1008111 0800100811 1700

WBS Code Defniion n Projectl =

Codepreview:  [oL1111

Code mask (excluding prefix):
[ Numbers (ordered) 5
Level Sequence Length Separstor
1 1
2 |Numbers (ordered) 2
3| Numbers (ordered) 2

[] Generate WBS code for new task.
[¥] Verify uniqueness of new WBS codes
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